T 7 FREFMEIEE I FIERRE RS

S5 2R R

3 % HMEH LA (T H)
| B BEEXE
=1 B BIEREE

B o5 RERHE
HE&ES 18-11-25-020



BEARE SHTEEHFIE R L B RE AR 2

% i Mg - RART % B fr % 8 L i ' # H =
B[R i 9,082, 506
TEFIERRETET 9,082, 506
TRFERBREER 9,082, 506
THRERREAES 8,931,928
ETEIE R 448,100
1 FHE#(R 1.00 448,100 448,100
=
Bt K ElME R D & AR ET 3,071, 643
2 BUKEMLADIREIREA ZDRE 1.00 1,108, 369 1,108, 369
=
3 FER DR B U ELE 1.00 563, 950 563, 950
=
4 SREE L RELEDRE 1.00 1,399, 324 1,399, 324
=X
WE L OFERRE 4,463, 685
5 HE X DB FHE S RERORIIRE 1.00 723,752 123,752
=X
6 H B AW E T DR IEREE 1.00 123,752 123,152
=
T HIERAMBE L ORENE DR 1.00 1,831, 881 1,831, 881
=X
8 FER DR R V414 Tl 1.00 563, 950 563, 950
=
9 HARETTICM I+ F- EfH#RE 1.00 620, 350 620, 350
=




BEARE SHTEEHFIE R L B RE AR 2

% i A& - AR Hfu H B B = il W =

g - ]S 457, 000

10 ST 1.00 126, 500 126, 500
]

11 SR E 1.00 126, 500 126, 500
(]

12 HB|E 1.00 204, 000 204, 000
]

BEY 491, 500

13 EBTAREER 1.00 471, 350 471, 350
=

14 AFARAMEREMIER 1.00 20, 150 20, 150
=X

E#ERE 150, 578

EBRARE 44,278

15 EHAME 1.00 44,278 44,2178
=

EHERRGRE 58, 000

16 XBHRRE 1.00 58, 000 58, 000
=X

EIREE 48, 300

17 EIERREHAE 1.00 48, 300 48, 300
=X




iEs BH7TEEHFIBRIPLR LW FERRES

A g Big - BIKHE B B = i & & =
B R i 4,884,850 + 4,197,656 9, 082, 506
EEAGE 4,884, 850
BEiERE 4,197, 656
€ DAt R {E 4,884,850 x 53.85% ( 35% = (1 — 35%) ) 2,630, 491
KB IR 9,082,506 + 2,630, 491 11,712,997
—REEEF 7,665,919 x 53.85% (35% + (1 — 35%) ) — 1,004 4,127,003
el 11,712,997 + 4,127,003 15, 840, 000
HEREELE 15,840,000 x 10.00% 1,584, 000
REZRREH 15,840,000 + 1,584,000 17, 424, 000




RiEFX-FET/SvHr— SFNTEEHFIE LR LI FIE R 2

BE 1
R FE : FHEEE R =1
% L IR - WARST R Bifs B = B Of & %5 = w &
HEhE
A 1.00 717, 500. 00 717,500
FEHEM (BRED
A 1.50 66, 900. 00 100, 350
A (A)
A 2.50 59, 600. 00 149, 000
HEm (B)
A 2.50 48, 500. 00 121, 250
& it YEZ8EH - 1.00K 448, 100. 00 448, 100




K& -/ \vr—>

THTEEHFRH LR T FIERRE RS

BS:2
2 BKEMEARDREIRES EDEE 1X5Y
& L g - BIRTE ==X ivi = B € & W E it &
HBROBE
= 1.00 367, 350. 00 367, 350
B K EME A D & ERE A Z DR E
=® 1.00 741,019. 00 741,019
& it YE%8EH - 1.00K 1,108, 369. 00 1,108, 369
E&S5:2.1
%ﬁ'\ﬁ%@*ﬁ%ﬂ' -I:—Lt%L)
4 L A - BIRTiE B = B M & E] W E w &
F EHAm (BRED
A 1.50 66, 900. 00 100, 350
HEm (A)
A 1.50 59, 600. 00 89, 400
HEm (B)
A 2.00 48, 500. 00 97,000
AR (C)
A 2.00 40, 300. 00 80, 600
& it 1E%8EH - 1.00K 367, 350. 00 367, 350
B55:2.2
2 BKEMEHRDREIRER EDEE 1xXEY (0xK)
4 i - BIRTiE B = B M & ] W OE H &
IR
= 1.00 72, 200. 00 72,200
— B [F HEEAER
= 1.00 72, 200. 00 72,200
#E AR
= 1.00 72, 200. 00 72,200
HEORHE
=® 1.00 72, 200. 00 72,200
HEROmE
= 1.00 72, 200. 00 72,200
BRI EER
=® 1.00 72, 200. 00 72,200
M &
= 1.00 585. 00 585
BETERT
=® 1.00 48,022.00 48,022/6. 00H / 8H
EREE EEIEE (LFEH D%
% 53. 80 481, 807. 00 259, 212
& it E%5EH 1. 00K 741,019. 00 741,019




K& -/ \vr—>

THTEEHFRH LR T FIERRE RS

5 :3
B SEROFEN RS ESE 1)
% L IR - ARSI i:-Xiva = i E] i B &
HROEHE
= 1.00 196, 600. 00 196, 600
HRomkEt
= 1.00 367, 350. 00 367, 350
& Hi {8 - 1.00=K 563, 950. 00 563, 950
£S5 :3.1
£ HEROBE XLy
% L IR - ARSI ==X va = L] ) 1 H =
FEHED (B&ED)
A 1.00 66, 900. 00 66, 900
HEm (A)
A 1.50 59, 600. 00 89, 400
Em (C)
A 1.00 40, 300. 00 40, 300
= it YEZHEH - 1.00K 196, 600. 00 196, 600
HF:3.2
BF: FERDOBRE IEE1)
4 L R - WART R ==Xiv] = {ii %5 i iw &=
FEBED (BRED)
A 1.50 66, 900. 00 100, 350
HEm (A)
A 1.50 59, 600. 00 89, 400
HEh (B)
A 2.00 48, 500. 00 97, 000
HEm (C)
A 2.00 40, 300. 00 80, 600
= it YEZHEH - 1.00K 367, 350. 00 367, 350




K& -/ \vr—>

THTEEHFRH LR T FIERRE RS

BS54
£ EEEEE L BEREDORE 1X5Y
& L g - BIRTE ==X ivi #H = B € & i it &
HBROBE
= 1.00 367, 350. 00 367, 350
SR EE L L REAEDOKET
=® 1.00 1,031,974.00 1,031,974
& it YE%8EH - 1.00K 1,399, 324. 00 1,399, 324
£S5 :4.1
%ﬁ'\ﬁ%@*ﬁ%ﬂ' -I:—Lt%L)
4 L A - BIRTiE ==X va B = B M i E] i w &
F EHAm (BRED
A 1.50 66, 900. 00 100, 350
HEm (A)
A 1.50 59, 600. 00 89, 400
HEm (B)
A 2.00 48, 500. 00 97,000
AR (C)
A 2.00 40, 300. 00 80, 600
& it 1E%8EH - 1.00K 367, 350. 00 367, 350
BS:4.2
2% BEERt X8R EORE 1xXEY (0xK)
4 i - BIRTiE ==X va 8 = B M i ] i H &
RRE R
= 1.00 148, 400. 00 148, 400
SEEHE - HEtDORE
= 1.00 124, 900. 00 124, 900
IR
= 1.00 72, 200. 00 72,200
— B MEEABR
=® 1.00 72, 200. 00 72,200
&K ELERER
= 1.00 72, 200. 00 72,200
#HE AMER
=® 1.00 72, 200. 00 72,200
HwROEHE
= 1.00 54, 150. 00 54, 150
HEROmE
=® 1.00 54, 150. 00 54,150
M &
= 1.00 585. 00 585
ERREE BEEIEE (LEFH D%
% 53. 80 670, 985. 00 360, 989
& it YE%8ESD - 1.00K 1,031, 974.00 1,031,974




K& -/ \vr—>

THTEEHFRH LR T FIERRE RS

HE 5L
2 REXOHSEESEBROKRIRE =10
% L IR - ARSI i:-Xiva = B OE E] i B &
RRENEOIEE
= 1.00 335, 100. 00 335, 100
HELDOHHEEEEBROKRIHET
= 1.00 388, 652. 00 388, 652
& Hi {8 - 1.00=K 723, 752. 00 723,752
ES:5.1
B RS HEEOIEE XLy
% L IR - ARSI ==X va = B f ) 1 H =
HEm (A)
A 1.50 59, 600. 00 89, 400
HEh (B)
A 1.50 48, 500. 00 72,750
HEh (C)
A 2.50 40, 300. 00 100, 750
Hitrg
A 2.00 36, 100. 00 72,200
& B 28N - 1.00=K 335, 100. 00 335, 100
&5 5.2
£ RELOHSERAEEEBRORIHRE 1XHY (=)
% L IR - BARSTIR ==X va = B f ) 1 w =
MR ER
= 1.00 72, 200. 00 72, 200
—EhEAEEER
= 1.00 72, 200. 00 72,200
HRpEHE
= 1.00 54, 150. 00 54,150
HRomEt
=& 1.00 54,150. 00 54,150
EREE BEEISEE (LEFH D%
% 53. 80 252, 700. 00 135, 952
= it YEZHEH - 1.00K 388, 652. 00 388, 652




K& -/ \vr—>

THTEEHFRH LR T FIERRE RS

‘S :6
L MBS AN E T OB R =1
% L IR - WARST R ==X iva = B ff %5 i w &
RREMEOIRE
= 1.00 335, 100. 00 335,100
S UESE ANIE £ DR
= 1.00 388, 652. 00 388, 652
& Hi Y28 - 1.00=K 723, 752. 00 723,752
BES:6.1
B RS HEOIEE 15ty
% L R - AR ==X iva = B H E] i w &
HEm (A)
A 1.50 59, 600. 00 89, 400
HEm (B)
A 1.50 48, 500. 00 72,750
A (C)
A 2.50 40, 300. 00 100, 750
Hifrg
A 2.00 36, 100. 00 72,200
& E Y8 - 1.00= 335, 100. 00 335,100
ES5:6.2
L HIUES AN E T 0BT 1XHY (=)
% L IR - AR ==X va = B H E] i w &
MR ER
= 1.00 72, 200. 00 72,200
— B [F HEEAER
= 1.00 72, 200. 00 72,200
HROEHE
= 1.00 54, 150. 00 54,150
HRokEt
= 1.00 54, 150. 00 54,150
ERZE EEISEE (LEFH D%
% 53. 80 252, 700. 00 135, 952
=) it E¥8EH - 1.00X 388, 652. 00 388, 652




K& -/ \vr—>

THTEEHFRH LR T FIERRE RS

==
£ HIERAMKE £ DR EDE DREE 1YY
% b R - KT =R iv] H = B %8 W E w &
iR EDRE
= 1.00 335, 100. 00 335, 100
HIERRINRELTOREDEDBET
=% 1.00 1,496, 781. 00 1, 496, 781
=) &t EEReH ;- 1.00= 1,831, 881.00 1, 831, 881
BE: 1.1
£ BRSSO InE 15ty
% 5 R - RHR ==Riv] H = B i %8 W E w &
HEm (A)
A 1.50 59, 600. 00 89, 400
HEh (B)
A 1.50 48, 500. 00 72, 750
HEm (C)
A 2.50 40, 300. 00 100, 750
HfttE
A 2.00 36, 100. 00 72, 200
) B EEReH ;- 1.00= 335, 100. 00 335, 100
B5:1.2
£ HIESARMNE L DR EDE DS 1KLY (1K)
% 5 R - RTHR Bfr H = B i ] W E w &
MREGE
=% 1.00 175, 000. 00 175, 000
EERETE - AHOKRE
= 1.00 148, 400. 00 148, 400
YIRS ER
=% 1.00 72, 200. 00 72, 200
[R5
= 1.00 72, 200. 00 72, 200
N— Bk
= 1.00 72, 200. 00 72, 200
BRIEE (RREHEESD)
= 1.00 144, 400. 00 144, 400
HRpEIE
= 1.00 144, 400. 00 144, 400
HEERED&EE
=% 1.00 144, 400. 00 144, 400
ERRE BEEIEE (LEH 0%
% 53. 80 973, 200. 00 523, 581
) &t e85 - 1.00= 1,496, 781. 00 1, 496, 781




K& -/ \vr—>

THTEEHFRH LR T FIERRE RS

H5:8
B SEROFEN RS ESE 1)
% L IR - ARSI i:-Xiva = i E] i B &
HROEHE
= 1.00 196, 600. 00 196, 600
HRomkEt
= 1.00 367, 350. 00 367, 350
& Hi {8 - 1.00=K 563, 950. 00 563, 950
£S5 :8.1
£ HEROBE XLy
% L IR - ARSI ==X va = L] ) 1 H =
FEHED (B&ED)
A 1.00 66, 900. 00 66, 900
HEm (A)
A 1.50 59, 600. 00 89, 400
Em (C)
A 1.00 40, 300. 00 40, 300
= it YEZHEH - 1.00K 196, 600. 00 196, 600
&H#F:8.2
BF: FERDOBRE IEE1)
4 L R - WART R ==Xiv] = {ii %5 i iw &=
FEBED (BRED)
A 1.50 66, 900. 00 100, 350
HEm (A)
A 1.50 59, 600. 00 89, 400
HEh (B)
A 2.00 48, 500. 00 97, 000
HEm (C)
A 2.00 40, 300. 00 80, 600
= it YEZHEH - 1.00K 367, 350. 00 367, 350




RiEFX-FET/SvHr— SFNTEEHFIE LR LI FIE R 2

5 :9
BFR - TR ERER A T (2 [ (F F- ZE AR 51 1X5Y
& L g - BIRTE ==X ivi #H = B ff € & W E it &
FTEIDRET
= 1.00 367, 350. 00 367, 350
E7IUTHRE
=® 1.00 253,000. 00 253,000
& it YE%8EH - 1.00K 620, 350. 00 620, 350
£S5 :9.1
%ﬁ]—‘ . E_on)*ﬁg# 1:_Lt% L)
& L A - BIRTiE ==X va B = B M i E] W E 5 &
F EHAm (BRED
A 1.50 66, 900. 00 100, 350
HEm (A)
A 1.50 59, 600. 00 89, 400
HEm (B)
A 2.00 48, 500. 00 97,000
AR (C)
A 2.00 40, 300. 00 80, 600
& it 1E%8EH - 1.00K 367, 350. 00 367, 350
H55:9.2
&M ETVUIRE 1X&Y
& [ - BIRTiE ==X va 8 = B M i ] W OE 5 &
FIEBET (B%ED
A 2.00 66, 900. 00 133, 800
HEm (A)
A 2.00 59, 600. 00 119, 200
& it E%5EH 1. 00K 253, 000. 00 253, 000




K& -/ \vr—>

THTEEHFRH LR T FIERRE RS

£S5 :10
£ BREHE 1mHY
% L IR - ARSI i:-Xiva = B OE E] i B &
FEHED (B8ED)
A 1.00 66, 900. 00 66, 900
AR (A)
A 1.00 59, 600. 00 59, 600
& Hi {EZ8EH - 1.00[ 126, 500. 00 126, 500
&S 1
2% PREmE 1mHY
% L IR - ARSI ==X va = B f ) 1 H =
FEHED (B&ED)
A 1.00 66, 900. 00 66, 900
HEm (A)
A 1.00 59, 600. 00 59, 600
& Hi {EZ£8EH - 1.00[ 126, 500. 00 126, 500
BHE 12
A RRRE HEED)
4 E IR - ARSI I:-¥iv] =1 B %A ] wm &=
HEnR
A 1.00 71, 500. 00 717, 500
FEBED (BRED)
A 1.00 66, 900. 00 66, 900
HEm (A)
A 1.00 59, 600. 00 59, 600
& Hi YEZREH - 1.00[ 204, 000. 00 204, 000
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RiEFX-FET/SvHr— SFNTEEHFIE LR LI FIE R 2

£S5 13
£ EBRTHREEERK 1)
% L IR - ARSI i:-Xiva o = B OE & E] OB B &
FEHED (B8ED)
A 1.50 66, 900. 00 100, 350
HEm (A)
A 2.50 59, 600. 00 149, 000
HEh (B)
A 2.50 48, 500. 00 121, 250
HEm (C)
A 2.50 40, 300. 00 100, 750
& H Y28 - 1.00=K 471, 350. 00 471, 350
BES: 14
£ AFARERIERK X450
% L IR - ARSI I=-Xiv] # = B H & ) B w =
HEh (C)
A 0.50 40, 300. 00 20,150
= H YEZHEH - 1.00K 20, 150. 00 20, 150
HE: 15
2% BHEARE IEE1)
4 L R - WART R ==Xiv] B = B & %5 W = iw &=
EHEARE
= 1.00 44, 278.00 44,278
& Hi E%¥5EH : 1.00K 44,278.00 44,278
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RiEFX-FET/SvHr— SFNTEEHFIE LR LI FIE R 2

ES :16
2 EBRRAE |[EED)
% L IR - ARSI i:-Xiva o = B OE & E] OB B &
XBHRRE
= 1.00 58, 000. 00 58, 000
= it E¥8EH - 1.00X 58, 000. 00 58, 000
&HE 1]
&% BIRERE 1X&Y
4 L R - AR B4 B = B & ) W = " &=
E-AYVTRE
I 1.00 48, 300. 00 48, 300
& Hi E%5EH 1. 00K 48, 300. 00 48, 300
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